

1-800-295-5510 uline.com customer.service@uline.com

PRICING REQUEST

REQUEST # 22446842

Thank you for your interest in Uline!

PROVIDED TO: FARMERS BRANCH CITY OFFICE

13000 WILLIAM DODSON PKWY FARMERS BRANCH TX 75234-6253 SHIP TO: BRANCH CONNECT ACTIVE ADULT

14055 DENNIS LN

FARMERS BRANCH TX 75234-3534

CU	CUSTOMER NUMBER 8747680		SHIP VIA BFS SERVICES	REQUEST DATE 08/06/24		
QUANTITY	U/M	ITEM NUMBER	DESCRIPTION	UNIT PRICE	EXT. PRICE	
200	EΑ	H-7684	MESH STACKABLE CHAIR	105.00	21,000.00	
50	EA	H-6965	MESH STACKABLE CHAIR WITH ARMRESTS	115.00	5,750.00	
50	EΑ	H-4115	STACKABLE CHAIR DOLLY	58.00	2,900.00	

SUB-TOTAL	SALES ŤAX	SHIPPING/HANDLING	TOTAL
29,650.00	.00	295,74	29,945.74

NOTE:

DELIVERY TIME 1 BUSINESS DAY VIA BFS SERVICES.

PO NUMBER PRICINGREQUEST ATTENTION: JESSICA ALVARADO



BUSINESS ESSENTIALS PO BOX 37 Grapevine, TX 76099

	QUOTE
QUOTE NUMBER	56133-0
QUOTE DATE	10/03/24
ACCOUNT NUMBER	10376
COST CENTER	

1001

Customer Service 817.328.1617

BILLTO ADDRESS		SHIPTO ADDRESS CITY OF FARMERS BRANCH SENIOR CENTER 13000 WILLIAM DODSON PKWY DALLAS TX 75234				
CITY OF FARMERS BRANCH 13000 WILLIAM DODSON PKWY DALLAS TX 75234 972-919-2528	8					
CUSTOMER PURCHASE ORDER	SALESPERSON	TERMS	ROUTE	PAYCODE	ORDER TAKER	
	LARRY CARRUTH	NET30	NORT	QUOTE	LC1	

ITEM NUMBER	MFG	ITEM DESCRIPTION	UN	ORD	B/O QTY	SHIP	SELL PRICE	EXTEND PRICE
2029F-BK	BEF	STACK CHAIR MESH BACK W/ARMS 275LB WEIGHT CAPACITY STACKS 4 HIGH	EA	50		50	98.95	4947.50
2028F-BK	BEF	STACK CHAIR MESH BACK NO ARMS 275LB WEIGHT CAPACITY STACKS 4 HIGH	EA	200		200	93.75	18750.00
SCCART	ALF		EA	50		50	53.25	2662.50
SCCART MAKEREADY	ALE	CART,STACK CHAIR,BK ASSEMBLE, DELIVER,INSTALL HUB CERTIFIED VENDOR REFERENCE TIPS STATE FURNITURE CONTRACT 230301	EA			50 1	53.25 399.00	2662.50 399.00

This Quote is valid for 30 days from the quote date unless otherwise specified in this quote.

Subtotal 26759.00

Tax

Total Due 26759.00

FURNITURE PROPOSAL

QUOTE # 3

The Branch Connection

Attn: Jacki Byles 14055 Dennis Ln Farmers Branch, TX 75234 10/04/2024

Plano, TX 75074
Tel: (972) 424-8561
www.planoofficesupply.com

Model Number	Description	Qty	Ext Quote Quote
H-7684	Mesh Stackable Chair - Armless	200	\$ 146.25 \$ 29,250.00
H-6965	Mesh Stackable Chiar with Armrests	50	\$ 162.50 \$ 8,125.00
H-5039	Stackable Chair Hand Truck	50	\$ 393.75 \$ 19,687.50
ZZ_Delivery & Assen	nbly ZZ_Delivery & Assembly	1	\$ 2,500.00 \$ 2,500.00

Group Subtotal: \$ 59,562.50

Grand Total: \$ 59,562.50

ACKNOWLEDGMENT & ACCEPTANCE

The Branch Connection

Attn: Jacki Byles 14055 Dennis Ln Farmers Branch, TX 75234 10/04/2024 Plano OFFICE SUPPLY

1405 E Plano Pkwy Plano, TX 75074 Tel: (972) 424-8561 www.planoofficesupply.com

Please note the following:

Pricing includes delivery, assembly, and installation.
Pricing does not include sales tax if applicable.
Pricing does not include relocation of existing furniture, electronic equipment, or personal items.
Furniture cannot be canceled or returned: Deposits are non-refundable.
All items in order are covered by standard manufactures warranties and support will be provided by the dealer.
Pricing valid for 30 business days, PO's submitted after this time with be subject to pricing changes where applicable.
For updates or changes to quote and pricing please contact kim@wattscompanies.com.

SPECIAL ORDERS AND CUSTOM MERCHANDISE CANNOT BE RETURNED. PRICES ARE SUBJECT TO CHANGE AFTER "VALID THROUGH" PERIOD.

All material is guaranteed to be as specified. All work to be completed in a workman-like manner according to standard practices. Any alteration or deviation from the above specifications involving extra costs will be executed only upon written orders and will become an extra charge over and above the proposal. All agreements contingent upon strikes, accidents, or delays beyond our control. All workers are fully covered by Workman's Compensation Insurance.

Authorized Signature:	Vill Watts	Date:	10/4/2024
Acceptance of Proposal: The ab satisfactory and are hereby accep as outlined above. Acceptance of	oted. I hereby authorize I	POS to complete the work a	as specified. Payments will be mad